
Model No.M6001 10MM DRILL



Model No.M6001 10MM DRILL

Item N
o.

Parts No. Description
Interc
hange
ability

Q'ty
New/
Old

Sales Pric
e (USD)

Purchase 
Price(USD

)
Note1 Note2

001 766014-6 ក◌ប◌លច◌ប◌ផ◌លែស◌វ◌ន S10 1

002 324376-4 ប◌រល◌ញ 1

003-1 210153-9 ប◌ដ◌ងគ◌រ◌ប◌ឃ◌ល◌ 6902ZZ 1

004 233925-5 រ◌ស◌ររ◌ង 13 1

005 226578-7 ព◌ញ◌◌ងបញ◌ឆ◌ត 35 1

006-1 210137-7 ប◌ដ◌ងគ◌រ◌ប◌ឃ◌ល◌ 606ZZ 1

007-1 183D43-2 ឈ◌តសម◌បក 1

D10 INC. 18

008 643566-3 ជេងទប◌ធ◌យ◌ង 5X8 2

009 B-80282 CARBON BRUSH SET CB-85A 1

010 850X24-8 ផ◌ល◌កឈ◌មេ◌ M6001 1

011-1 265652-6 វ◌សក◌ប◌លឡេស◌◌ម◌នក 4X18 7

012-1 210046-0 ប◌ដ◌ងគ◌រ◌ប◌ឃ◌ល◌ 608ZZ 1 *

012-2 211032-4 ប◌ដ◌ងគ◌រ◌ប◌ឃ◌ល◌ 608ZZ O 1

013 240066-0 កង◌ហ◌រ 52 1

014 515848-2 ស◌ណ◌◌ដ◌◌ភ◌លេង 220V 1

D10 INC. 12,13,15

015-1 210050-9 ប◌ដ◌ងគ◌រ◌ប◌ឃ◌ល◌ 627ZZ 1

016-1 633933-0 ខ◌នេយ 1

017 232210-3 សន◌ល◌កជន◌ទេស 1

018-1 183D43-2 ឈ◌តសម◌បក 1

D10 INC. 7

019 650551-9 ក◌ងត◌ក◌ FA1-3/2BEZ-4 1

020 687124-5 អង◌គ◌ខ◌សែ 1

021-1 265652-6 វ◌សក◌ប◌លឡេស◌◌ម◌នក 4X18 2

024 682569-2 រប◌◌ងក◌រព◌រខ◌សែ 8-85 1

025-1 691284-7 ខ◌សែភ◌លេង 0.75-2-2.0 1

A01 763447-6 សេក◌ប◌លច◌ប◌ផ◌លែ S10 1

A02 418163-2 កន◌លែងព◌យ◌រសេ 10 1

Please state Parts No. when your order. Print Date 07/04/2023


